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SECTION-I

Directions Question 1 to 10: Fick the odd rran out.

Fick the odd man out.

4. peat

h. ermhers
c. coke

d. coal

Pick the odd man out.

a. custodian

b, consignee

c. consul

d.  conurdssary

Fick the odd man out.

a. expound

b interpret

c. elucidate

d. infer

Fick the odd man out.
a. cCease

b, launch

C. initiate

d. cotnence

Pick the odd man out.

a. adroit

b adept

c.  dextrous

d.  awloaard

Bick the odd tnan out.
a. hrink

b, huh

C. WErge

d. brim

Fick the odd man ot
a. detest

h. abhor

c.  ardour

id. loathe

Bick the odd tnan out.
a. fanatic

b, zealot

C. tariac

d. rational

Fick the odd man out.
a. sporadic

b frequent

c.  interrottent

d. scarce

Bick the odd tnan out.

a.  tacturn

Directions (. 11 to 15: Each sentence below is
followed bty four others. Select from the four the one
which most complements the idea contained in the
given staternert.

11.

12,

13.

14.

15.

bad 03

b, reserved
c. clatnorms
d. zilent

One the one hand, capitalism requires the
engine of selfinterest - of greed, 1f you wall-
wiile on the other hand, society requires
attention to  the  general  interest-the

enhancement of greed

taming of greed

desttuction of greed

d transformation of greed and animosity

Basically, we like the free rrarket only as long

as the trend isup.

a.  We refuse to see the long-term benefits of
the downrward trend.

b, What we need to cultivate iz an attitude of
EquAnitity.

c. We forget for the moment that the things
will pick up.

d. A5 zo00n as the inewitable downturm ocours,
we complain  bitterly and  expect the
goverrument top fix the things.

since they first became part of living room

furniture, telewizsion remote controls hawve

become the advettiser's scourge.  Some
analysts reckon that

a. the instruments will malee TV advertising
completely ineffective.

b. as traty as a third of all ads are zapped by
ViEWers.

c. the insttument greatly interferes with the
watching of whaolesotne TV prograrmes.

d. soon the advertising industry will have no
option tut to approach the gowernrnent to
bat the instrurment.

The illuzion that times that were are hetter

than those that are

a. shatters our beliefin fidure.

b, has probably pervaded all ages.

c. tmakes our lives noserable.

d. often gives us hope and peace.

bince  childten are less  convenderd  to

manipulate than gunea pigs

a. educational research 15 often shott of hard

data.
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b, doctors have to depend more on the latter
than the former.

c. child peychologists are often compelled to
use more data obtained from the latter
SOUrCes.

d. the ressarch findings from the latter source
are generally considered to be more
relighle than that obtained from the
former.

Directions (). 16 to 20: Select the lettered pair that best
expresses a relationship similar to the one expreszed o
he original pair,

14.

17.

15.

19,

20.

LA XIN : APHORIZM
a.  toasrma optitooen
b, prophecy: doom

c. theoremn : proof

d. precept axiom
EASE: ALILFEVIATE

a. hint allocate

b, revolt: repudiate

c. collapse: fise

d. guestion : interrogate
SECEET: CLANDEZTINE
a. owert: furive

b, covert stealthy

c. open: closed

d. news: nunoy
LIMPD : LIUREY

a. dazed: clouded

b, obscure : vague

c. bright: doommy

d. nebulous: dim
DRANSA - AULIENCE
a. brawl . mmbonds
gatne | spectators
art: ontics

trovie: actors

oo

Directions (). 21 to 25 Select the lettered pair that
best expresses a relationship that is least simdar 10 the
one expressed in the original pair,

21

s

a3

ABDICATE: FOWER.
a. reinstate | power
b, forgo: privileges
c. renounce: world
d. sacrifice : fights
SATL: SHIF

a. propeller aeroplane
h. radar satellite

c. hydrogen : balloon
d. accelemtor: car
CAMNIMNE:DOG

a. feline: cat

b, aguiline: parraot
c. serpentine; cobm
d. vdlpine: fox
e COSMIC : UNIVERSE
a. terrestral @ earth
b, lunar moon
c.  cotiubial @ youth
d. anmalat: fing
3. GERMANE: PERTINEMNT
apt ; appropriate
quicls urgent
dull : sluggizsh
excited | serene

mo oW

Direc tions: Amange the sentenices in a proper
sequetice 20 as to tmake a coherent paragraph.

26, Arrange the sentences in a proper sequence so
as to makea coherert paragraph,

&, Bealists believe that there iz an objective
redlity  “out  therd”  independent  of
oarselves.

B. Thiz reality exsts solely by virtue of how
the world iz and iz discovemble by
application of the methods of science.

C. They believe in the pozdhility of
determining whether or not a theory is
indeed really true or falze,

D [ think it iz fair to say that this is the
postion to which most worldng scientists

subsciibe.
a ACBD
h. COBA
c. DCBA
d BCAD
27 Arrange the sentences in a proper sequence so

as to makea coherert paragraph,
&. Thereis a strong ramfactuing base for a

variety of products.

B. India las come a long way on the
technology front.

C. But the technology adopted has been
largely of foreign origin,

[, There are, however, areas such as atorc
energy, space, agriculture and defense
where significant strides have been made
in evolving relevant technologies within

the courtry.
a ADCE
b, DBAC
c. BACD
d CBAD
28. Atrange the sentences in a proper SeqUencE S0

as to makea coherert patagraph,
A, In emission trading, the governmment fixes
the total amount of pollution that is
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a0

0.

a.
h.
c.

d

. Econorists argue  that this

acceptable to maintain a desired level of
air quality.

approach
tnakes air pollution comtrol tmore cost-
effective than the currert practice of fizing
air-pollution standards and expecting all
cotrparies  to pollute  below  these
standards.

The U3A uses erissions trading to control
air pollution,

It then distributes emission permits to all
cotrparies in the region, which add up to
the owerall acceptable lewel of ermission.
BaDC

ACDB

CBAD

DRAC

Atrange the sentences it a proper sequetice 50
as totmake a coherent pata oraph.

A

LER=

d.

The individual companies wvary in size,
from the corner grocery to the industrial
glatit.

FPolicies and managemert methods wathin
finnz range fom fonmal, well-plamned
orgatisations and controls to sipshod day-
to-day operations.

YVarious industties offer a wide amay of
products or services through millions of
firmns largely independent of each other,

Variety in the form of ownership
contritutes  to diversity in capital
investment, wolume of business, and
financial structure,

DBECA

CADE

BaDC

ADCHE

Atrange the sentences it a proper sequence 50
as tomakea coherent patagraph.

A

o n oW

Al lewels of detnand, whether indisidual,
aggregate, local, rational, of internati onial
are subject to change,

. At the same titne, science and technology

add new dimensions to products, their
uzes, atd the methods used to rarket
thern,

Aggregate demand fluctuates with changes
in the level of buaness activity, GNP, and
national incotmne.

The demands of individuals tend to wary
with changing needs and rsing income.
CBDA

DCAB

BCaD

ADCE

-

S TE

Directions for (). 31 to 40: Armange sentences A B, C,
atnd [ between sentetices 1 and &, so as to fortm a
logical sequence of six sentences.

3l Arrange sentences A B, C, and D between
sentences 1 and 6, so as to form a logical
sequence of six sentences,

.

=

d

Chichen liza, last outpost of the hlayan
civilization, was bilt in the heat of the
arid Yucatan peninsula, unlike most of the
gatlier Wayan cities, which were built in
rain forests.

If she survived in the dars water until mid-
day, priests hauled her out to ask what the
gods had hold her

. In tirnes of crisis, a maiden was hurled at

dawry into the A0-fi. deep hole in the
limestone rock.

The cty folles drank fom one well and
used the other aza well of sacrifice.

It got its water from two wells lknown as
cenotes, fed by underwater streams.

The Ilayans also  thtew cheriched
possessions ito the hole-catrwved jade,
gold, nodules of resn uses as incense,
copper discs and human skeletons have all
been dredged ot of it.

DCBE A

BCAD

CADB

ABCD

32 Amrange sentences A B, C, and D between
sentences 1 and 6, =0 az to form a logical
sequence of s1x sentences.

.

all human beings are aware of the
existence of a power greater than that of
the mortals — the name given to such a
power by individmls i3 an outcome of
hirth, education and choice.

This power prowides an anchor in times of
adversity, difficulty and trouble,

Industnial orgamizations also contrbute to
the wenemation of this power by
participating in activities such az religious
cerernonies and festivities organized by
the emrployees.

Their other philanthropic contribtions
include the construction and maintenance
of religious places such as temples or
gurichwaras,

Logeally, therefore, such a power should
be remembered in good times also.

The top menagement/managers should
patrticipate in all such ewvents, itvespective
of their personal choice

ADBC

BCAD
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33

3
d.

CADE
DACHE

Amrange sentences A B, C, and D between
sentences 1 and 6, so as to form a logical
sequence of &z sentences.

1.

LERNE S

d.

Total forgiveness for a nustalee corumitted
generates a sense of conmplacency towards
target achi evernent among the ermployees.
In such a stuation, the worle ethos gets
distorted and individuals get a feeling that
they can get away with any lapse.

. The feeling that they dewelop iz “whether [

produce results or not, the management
will not punish me or does not have the
guts to punish me.”

Also, excess lasity damages management
credibility, becauze for a long time, the
management  has  maintained  that
dysfunctional behaviour wiall result in
punishment, and when something goes
wrong, it fails to take specific punitive
action.

The sewenty of the punishment may be
reduced by modififing it, tut some action
must be taleen against the guilty so as to
serve as a reminder for all others in the
Organi sation.

Dloreower, it helps  establish  the
management’ s image of being firmed, fair
and et human,

DCBRA

BaADC

DBCA

CARD

Amange sentences A B, C, and D between
sentences 1 and 6, so az to fonmn a logical
sequence of &z sentences.

1.

Currency movernents can bave a dramatic
impact on equity  retums for foreign
investors.

Thiz ig not surprising as many developing
economies try to peg their exchange rates
to the US dallar o to a basket of
CUTEnCies.

Ilany deweloping economies marage to
keep exchange rate volatility lower than
that in the industrial econorm cs.

India has also gone in for the full float on
the current account and abolished the
managed exchange rate.

Dramnatic exceptions are Argentina, Bramil,
and Migenia.

Another emerging-rnatket-specific fsk is
liguidity rigle

ADBC

CD&AR

BLAC

3.

36

d.

daod TE

CABD

Arrange sentences A B, C, and D between
sentences 1 and 6, so as to form a logical
sequence of sx sentences,

1.

oo

d

MManagers rmst lead by example, they
should not be averse to giving a hand in
rranal work, if required.

They should also update their competence
to guide their subordinates; thiz would be
possible only if they leeep in regular touch
with Hew PIOCESSES, trachines,
insthamerts, gauges, systems and gadgets,

. Worlomust be allocated to different groups

and tearmn members in clear, specificterms.
Too much of wall-building iz detrimertal
to the exercize of the “personal chansma’
ofthe leader whose presence should not be
felt only through notices, circoulars or
mernos, but by being seen physically,
simple, dean living among one’s people
should be ingsted upon.

This would mean the maintaining of an
updated orgamisation chart, laying down
job descriptions, idertifying ley result
areas; setling personal targets, and above
all, montoring of performance, to mest
organisational goals,

BDAC

BCDA

ADCE

ACDE

Arrange sentences A B, C, and D between
sentences 1 and 6, so as to form a logical
sequence of six sentences,

.

oo

The top management should perceive the
true worth of people and only then malke
fiiends

such ‘true fends” are very few and very
rare

. Factors such as affluence, niches, outward

sophistication and conceptual ahilities are
not prerequisites for gemuine fiendsip.
such people must be respected and kept
closeto the heart.

Business realities call for developing a
large circle of acoquaintances and cortracts,
howewer, all of them will be motivated by
their own selfinterest and it would be
wrong to treat them as genine friends.
There iz always a need for real fiiends ta
whotn one cat b for balanced, unselfish
advice, more 30 when one iz caught ina
dilermtma.

ABCD

ADBC

ABDC

ACBD
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35

39

Arrange sentences A B, C, and D between
sentences 1 and 6, so as to form a logical
sequence of a3 sentences.

1.

RN

d

Conflicting  derrands for resources are
always woiced by different
functi ons/departmentsin an organisation.
Every manager examines the task
entrusted to him and ewaluates the
resources required.

. hvwvailability of resources i foll measure

takes task achievement easy, because it
reduces the effort needed to somehow
make-do.

& mfety cushion 1s built into demand for
resources, to offset the adwerse impact of
any cut impozed by the seniors,

This aspect needs to be understood as the
reality.

Dynamic, energetic, growth-orierted and
wige managements are always confronted
with the inadequacy of resowrces wath
respect to one of the four W's (men,
machines, money and materialsy and the
two T s(time and tectmology).

DABRC

ACBD

ABCD

BCDA

Arrange sentences A B, C, and D betwest
sentences 1 and 6, so as to form a logical
sequence of &z sentences,

1.

=

LER

d.

The Ethiopians, who believe that they are
God’s chosen people have a special legend
to justify their confidence.

According to the legend, God molded the
first man from dlay.

. He took the second burnt and black, so he

threw them away to the South of Affica,
He tool the zecond batch out too soonand
they were pasty and white, so he threw
them away to the Morth, where they
became Armbs and Furopeans.

He put the first batch in the oven to bale
but left them too long,

The third batch catne out just fight and he
put therm in Ethiopia,

ADBRC

DCBA

BACD

CBDA

Amange sentences A B, C, and D between
sentences 1 and 6, so az to fonm a logical
sequence of ax sentences,

1.

B.

According to Greel myth, Pandom was
the first worman. A. Only hope was left.
She was sent to the rebellious Zeus as a
purd shrment for mantand.

L I3
C. Shewas givena box to take with her, with
instructions not to open it
D. Because she was curious, she disobeyed,
opened the box and all the ewils of the
world flew out.
6. Pandota’s box has since become a syrmbol
for amy action whose consequences are

dangerously unpredictable,
a DCBA
h. ABCD
c. BCDA
d. CADB

40, Atrange sentenices A B, C, and D hetween
sentences 1 and &, so as to form a logical
sequence of 83 sentences.

1. Despite the passage of fime, a large
tnber of conflicts continue to retrain
alive, hecause the wronged patties, in
reality o in imagination, wish to take
rewenige upon each other, ths creating a
viclous circle:

A0 At times, managers are called upon to talke
tuthless  decisions in  the long-term
interests of the orgatisation.

B. People hurt others, at times knowingly, to
teach thetn a lesson and, at other times,
because they lack correct understanding of
the other person bave stand.

C. The delegtion of any power, to any
person, 18 never absolute,

D. Every nuthless decision will be easier to
accept if the situation at the moment of
comnitting the act is objectively analyzed,
stared operly and discussed ratiorally,

6. if power is misused, its effects can last
only for a while, since employees are
bound to confront it someday, more so, the
talented ones.

BCAD

ADBC

DABC

BADC

mD oW

Direc tions for (). 41 to 45: Each of the fullowing
questions cortains six staternents followed by four sets
of cotnbinations of three. You have to choose that set
it which the staternents are logically related

41.

A, Allmenare good

B. Somemenare not good.

. A few men donot beliese in God.

D Mo good ran believes in God

E. Mo man who does not believe in God is
good.

F. Sometnen do not beliewe in God.

a. ABD
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42

43,

45

ACBE
ECB
d BED

oo

Fajender iz an industialist,
Famloumar 1z Fajender’s brother
Dot et are chel

Mo industrialist is honest.
F.ajender iz not honest

F.ajender iz not cruel.

ACF

ABE

DCE

ADE

RO SR EEDOE

All dogs are honest.

Dogs are characterized by honesty
Heroxzisadog,
Anish’spetisadog

All honest animals are dogs.
Heroxzis honest.

BDF

ACF

ADE

CEF

o R EED oD

Some Asians are Indians.
some Asians are hardwordng,
All Indians are Asans,

some Indians are Asans
motne [ndians are lardworking,
Mo Indian is hardworking,
BDE

CEB

CDF

BDF

mo SR TEDO DR

sotne books are fnty.

motne books ate not futny.

All funny books are best-sellers.
some hestsellers are not funny.
Somme books are not best-zellers.
Somme books are hest-sellers.
BEDE

CDF

ACF

BLF

o SR EED oD

Directions Q 46-50: The questions are bazed on a
ghort statement preceding them

4a.

But because the idea of private property has
been permitted to overnde wath its selfishness
the common good of humanity, it does not
follow that there are no limits within which

47

43.

49,

dad TR
that idea can funetion for the generml
cotrerience and advantage.

Which of the following is most likely to

weaken the argument?

a.  All the people of the socety should
progress at an equitable mate and there
should be no disparties and private
propetty does bring about a tremendous
disparity.

b, One shodd not strive for the comenon
good of humanity at all, instead one
should be concemed with tasimizing
one’s own wealth

c. One should learn from the expenences of
former cormmuni sts nations and should not
repeat their mistalces at all,

d. Ewen prosperous capitalist countnes like
the U534 have ther share of socal
problems.

The writer can only be fertile if he renews

himezelf and he can only renew himself if his

soul iz constantly  enriched by fresh
EXQEL ENCE,

Which of the following is most likely to
support the above thought?

a.  Only out of fresh expetience can the writer
get germs for new waiting.

b, The writer can mest new people.

c.  Thewriter nnst see new places.

d. Mone ofthese

Unless you devote your whole life to it, you

will never learn to speak the language of

another country to perfection; you will never
know its people and its literature with
cotmplete intimacy.

Which of the following iz likely to undermine

the above argument?

a. [ rcan speak ten foreign languages already.

b, [ donot travel to foreign countries.

c. [ am happy wath the languages [ know and
do not need to learn any other language.

d. [ chould spend time to understand my own
peaple and literature first, only then can I
appredate other languages and cultures.

[ have been studying it, consciously and
subconsciously, for forty years and 1 still find
et waccountable; people [ know intirately
can surprise me by some action of which [
never thought them capable of, or by the
discovery of some trait exhibit a sde of
themselvesthat [ never even suspected.

The idea in thiz szentence can be hest

surntratzed as

a. Men are inconsistent and therefore one
should not be confident even about one’s
closest fiends.
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50,

SECTION-II

5l

51

53

b, Men are unpredictable; one can newver tell
what do nest hence one should be wery
carefil in one’ s dealings.

c. Mo ratter how cosely  you  know
somnchody there still exists an unknown
facet ofhis personality,

d. MNone ofthese

Mow the audience iz a very cunlous ammal. It

1z shrewed rather than intelligent. Its mental

capacity iz less than that of its most
intellectual mermbers. If these were graded
from A to 2, decreasing with succeeding

letters to the zero of the hysterical shop girl, 1

should sy its mental capacity would commne

around about the letter 0.

According to the above statemerts,

a. oome members in the andience are more
intelligent than any of its other members.

b, The net intelligence of the audience iz a
littlelezs than average.

c. aonly.

d. aandhb hath,

A person who bas a certain amount wath him
goes to the marlet. He can buy 50 oranges or
40 mangoes. Heretains 10% of the amount for
tazm fare and tuys 20 mangoes, and of the
balance he purchaszes oranges. The manber of
oranges he can purchase iz

a.  3f
b, 40
c. 15
d. 20

Two-fifths of the woters protrise to vote for P
and the rest profoise towote for Q. Ofthese, on
the last day, 15% of the voters went back on
theit protaise to wote for P and 25% of woters
wenit back oftheir profise to wote for (), and P
lost by 2 wvotes Then the total nutmher of
votersis

a. 100
h. 110
c. 90
d. 95

One liter of water iz poured into each of two
cortainers of equal height. The first container
A haz a drowlar crozz section of radivs 2 cm
and the other B haza square cross section with
side of 4 cm. In which container wall the water
nsetoa greater height?

a. Container &

b, Container B

55

6.

55

59

Tad T3
c. Equalinbaoth
d. Depends on the mte at which water is
poured
ABCD isa square of area 4, which is divided
into four non-owverlapping triangdes as shown
in the figure. The sum of the perimeters of the

triangles is:

A B
L r
a 81+

b, B2+

e A2+ND

d 41+

What is the value of m which satisfies 3m® -
21+ 30 =07
a m=2 ams=5

b m=2
C 2<m<3
d m<5
3 ]
The value of — 55 +43 - 15
55 —59wda445
a. 100
b, 105
c. 125
d. 75

POF. 315 a square. 3F. is a tangent (at point 3
o the circle with centre 0 and TR = Q5. The
ratio of the area of the circle to the area of the

suate is:
T s/ 0
‘ - Z"r
1 R
a mf3
b 1157
c. 3
d. 11
5.1 iz divisible by
a 13
b 31
c 5

d. none of these

The sides of a triande are 5, 12 and 13 units
respectively. A rectangle iz constructed which
12 equal in area to the triangle and haz a width
of 10 units. Then the perimeter of the rectangle
is

a. 30

b 24

c. 13
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al.

fil.

B2

a3

d. Mone ofthese
Which one of the following cannot be the ratio
ofangles in aright-angled trang e?

a 123
b, 1:1:2
c. 136

d. Mone ofthese

Three bellz chitne at an ittetwal of 18, 24 and
37 minutes respectively. At a cettain time they
hegit to chitme together. What length of time
will elapse before they chitme together again®

a. 2 hours 24 mimites

b 4 hours 48 rirmtes

c. | hour 38 minutes

d. 5houws

A, B, C and Dare four towms, any three of
which are non-collinear. The munber of ways
to construct three roads each joining a pair of
towns so that the roads do not form a triangle
iz

R o |

a.
h.
C.
d. tmorethan 9

For the product n{n + 13(2n + 13, n I N, which
one of the following is necessarily false?

a. Itisalways even

b, Divishleby3

c.  Always divisible by the sum of the square

of first n natural mumbers
d. Mever divisible by 237

Directions (). 64 to 67, refer to the following data:

f5.

i,

lefz, vy =| least ofiz, )
oz = [z]
tnes) (2, ¥ = madmum ofixz, )

Find the walue of mefa + mo(lefa, b)), mofa +
me(mofay, moib,ata=-2and h=-3

a 1

b D

. 5

d 3

Which of the foll owing rst be correct?

a. mo(leda, b}3 (el mola), mol b))

b mollefa, b = (rmoe(mola), moh

o roolleta, b = (lelmola, mothy)

d. tmoilefa, b lefmola), molhy)

For what values of a is me(a®— 3a,a— 3 < 07
a a<danda<l

h l=a<3

c. a<dora<l

d a<3aa<l

For what values of ais lefa® — 3a,a - < 07
a l<a<3

fiE.

L I3
b, a<landa=<3
c. a<landa<3
d a<lora=<3
Fam purchased a flat at Rs. 1 lakh and Prem
purchased a plot of land worth F= 1.1 lalkch
The respective annual rates at which the prices
ofthe flatand the plot increased were 105 and
3% After two wears they exchanged their
belmmgings and one paid the other the
difference. Then:
a. FampaidEs 273 to Prem
b, FampaidEs 473 to Frem
c. RampaidRsz 275010 Prem
d. Prempaid Bz 475 to Ram

Directions (). 6%to 72: Four sisters Suwarna, Tara,
Urra, and Vibha are playing a game such that the loser
doubles the money of sach of the other players. They
played four games and each sister lost one gatne in the
alphabetical order. At the end of fourth game each
sigter had s 32

f9.

7.

7l

73

Who started with the lowest armount?
A, DUVAmA

b, Tam.

c. Utma

d. Vidha

Who started with the kighest arnount?
4. BUvama

b, Tam

c. Utma

d. “ibha

What was the amount with Urmna at the end of
the second round?

a.  3A

b, 72

c. 1A

d. Mone of these

Horwr tmany rupees did Suvarna start with?
all]

34

fif

28

mD oW

Direc tions Q. 73 to 78: Choose the correct option:

73

4.

The remainder obtained when a prime nmumber
greater than 6is divided by 6 1=

a lad

b, lars

c 3ars

d doars

In a race of 200 meters, A heats 3 by 20
trnetres and N by 40 metres. If 5 and N are
tunninig a race of 100 metres with exactly the
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samne speed as before, then by how many
tnetres will 5 beat MY
a. 11.11 metres

b, 10 tnetres
c. 12 metres
d. 25 metres

75 In theadjoining fiquare, AC + AR = 25 AD and
AC - AD =3 Thearea ofthe rectangle ABCD
is

b C
& ji!
a  3f
b, 50
c. Al

d. Cannot be answered.

K} The rate of inflation was 1000%. What will be
the cost of an atticle, which costs 6 units of
CurTency now, two years fom now’

a. han
b, Aal
c. 720
d. 726

i 72 hens cost Bz 967 . What does each hen

[TARE L]

cost, where numbers at ® 7 are not wisible or
are written in illegible hand?
a. Re 323
h. Rs 511
c. Rz 551
d ERs7.312
T, Bozestmumbered 1,2, 3,4, and 5> are leptina
tow, and they ate to be filled with either a red
ora hlue ball, such that no tswo adjacent boxes
can be filled wath blue balls How many
different amrangements are posable, given that
all ballz of a given colour are exactly identical
inall respects?
a &
b 10
c. 15
d 21

Directions ). ™ to 80 are based on the following
inforrmnation:

Thereare three different cable channel s namely Ahead,
Luck and Bang In a survey it was found that 85% of
wewers respond to Bang, 20%: to Luclk, and 30% to
Ahead. 0% of wewers respond to emclly two
channels and 5% to none.

79 What percentage of the wiewers responded to
all three?

a 10
b 12

&0.

Brad T3
c. 14
d. Mone ofthese
Azauning 20% respond to Ahead and Bang,
and 16% respond to Bang and Luck, what is
the percentage of viewers who watch oy
Luck?
20
1a
la
Mone ofthese

mD oW

Direc tions Q. 81 to §7, choose the correct option:

8l

8.

83

85

AR iz pependicular to BC and BD is
perpendicular to AC. CE hizects the angle C;

S8 =30° Then, what is < CED?
A -

30°

a0®

45°

O

One root of = + lor — 8 = 0 is square of the
other. Then, the value of kis:

a 4

h. &

co -4

d -1

AB 1z diatneter of the crcle and the points C
and D are on the croumference such that

o oW

The length of a ladder is exactly equal to the
height of the wall it is resting against. If lower
end of the ladder is kept on a stool of height 3
tn and the stool iz kept 9 m oaway frotn the
wall, the upper end of the ladder coincides
with the top of the wall Then, the height of
the wall iz

a ldm

b 15m

c. l&m

d. 1lm

The largest value of mm (2 + %, 6 - 3x) when
xx0is

a 1

h, 2
c. 3
d 4
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A man invests Bs 3000 at a mate of 2% per
attnur, How much more should he invest at a
rate of 8%, so that he can earn a total of 6%
pet atwn?

a. Es 1200

b, Es 1300

c. Fas 1500

d. E= 2000

Three consecutive positive even nmumbers are
such that thrice the first murnber exceeds
double the third by 2; then the third number iz
a. 10

b, 14
c. 1d
d. 14

Directions (). 88 to 91, use the following data;

A& and B are nnning along a circular courze of radias 7
lom in opposite directions such that when they meet
they rewerse their directions and when they meet, A
will run at the speed of B and wice-wersa, Initially, the
gpeed of A is thrice the speed of B, Asaune that they
gtart from Il and they first meet at W, then at i,
next at Ilz, and firally at Il

BB,

9.

0.

9l

What iz the shortest distance between IV and
o

a 1lkm

b, 7N2km

c. 7lkm

d. 14 km

What iz the shortest distance between vl and
Iulz along the courss?

a. 22km

b, 1442 km

c 2242km

d. 14 km

Which is the point that coincides with BIO?

d. I'U'Il

b, iz

C. I"JI3

d. Iy

What 15 the distance travelled by A when they

Directions (). 92 to 100: Each of these itetns has
question followed by two staternents. As the answer,

tratl

a.

ifthe questions can be answered with the help
of hoth the staternents but not with the help of
either staternent itzelf

)

93

m5.

9.

BHiaf 33
if the question can not be answered even with
the help of hoth the statemments.
1fthe question can be answered with the help 0
staternent I alone
if the question can be answered with the help
of statement [ alone

What 15 the mumber zif

I The LCM of % and 181z 36.

II TheHCF ofxzand 1515 2.

a. if the gquestions can be answered with the
help of both the staternents but not with
the help of sither staternent itzelf

b, if the gquestion can not be answered even
with the help of both the staternents.

c. if the gquestion can be answered with the
help 0 staternent I alone

d. if the question can be answered with the
help of statetnent Talone

If z, ¥ and = are real rmunmbers, is 2 - ¥ even o

odd?

I =Zyziz odd

Il xw+ v+ zxis even

a.

What is walue of %, if x and v are cotsecutive

positive even integers?

a. if the gquestions can be answered with the
help of both the staternents but not with
the help of sither staternent itzelf

b, if the question can not be answered even
with the help of both the staternents.

c. if the question can be answered with the
help 0 staternent [T alone

d. if the question can be answered with the
help of statetnent [alone

I (z-v)iF=4

I (x+v) <100

What 15 the profit percent?

I The cost priceis 80% ofthe selling price.

II. TheprofitisBs 50

a. if the gquestions can be answered with the
help of both the staternents but not with
the help of sither staterment itzelf

b, if the question can not be answered even
with the help of both the staternents.

c. if the question can be answered with the
help 0 staternent ITalone

d. if the question can be answered with the
help of statement [ alone

What iz the length of the rectangle ABCTY

I Area of the rectange iz 48 square units

II. Length ofthe diagonal iz 10 units

a. if the gquestions can be answered with the
help of both the staternents but not with
the help of either staterment itzelf

b, if the gquestion can not be answered even
with the help ofboth the staternents.
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HE.

9g.

1o,

if the gquestion can be answered with the
help 0 staternent IT alone
if the gquestion can be answered with the
help of staternent [ alone

What is the price of bananas?

L

II.

C.

d.

What iz the

With s, 84, [ can buy 14 tamanmas and 35
Oranges.

Ifprice of bananas if reduced by 50%: then
we can buy 48 bananas in R 12

if the questions can be answered with the
help of both the staternents but not wath
the help of either statement itself

if the question can not be answered even
with the help of hoth the statements.

if the gquestion can be answered with the
help 0 staternent IT alone

if the gquestion can be answered with the
help of statetnent [ alone

first terrn of an anthmetic

progression of positive integers?

L

II.
a.

C.

d.

sutn of the sgquares of the first and second
termiz 116.

The fifth term is divisible by 7.

if the questions can be answered with the
help of both the statermnents but not wath
the help of either statement itzelf

if the question can not be answered even
with the help of both the statements.

if the gquestion can be answered with the
help O staternent [T alone

if the question can be answered with the
help of staternent [ alone

[sx+ y—z +1t even?

L
L.
a.

C.

d.

X+y+tiseven

tz 1z odd.

if the questions can be answered with the
help of both the statemnents but not with
the help of sither staternent iteelf

if the question can not be answered even
with the help of both the staternents.

if the gquestion can be answered with the
help O staternent [T alone

if the gquestion can be answered with the
help of statement [ alone

What is the area of the triang] 7

L
II.
a.

Two sides ared] o each

Thealtitude to the third side iz 9 ctn long
if the questions can he answered with the
help of both the staternents but not with
the help of sither staterment itself

if the question can not be answered even
with the help of both the staternents.

if the gquestion can be answered with the
help 0 staternent IT alone

if the gquestion can be answered with the
help of staternent [ alone

PP ad 7R

SECTION-III

Directions for Q. 101 to 150: Eead the passages and
answer the questions that follow:,

PASSAGE]

Darwinian enthusiasts are too quick to read histoical
purposes irto ewery biclogical trmit. In Stephen Jay
Gould’ s telling phrase, they are owvetly fond of “just-so
stories”, which differ from Kipling’s fables only in
their lack of good jokes. Bt Gould’s immediate target
here 1z “selfish-gene” theorists like Fichard Dawlins,
and it iz a moot point whether he actually hits that
tratle. But, whatever you think of Wi Dawlins,
evalutionaty psychalogy 1= indeed open to the just-so
charge. In principle it may seem a good idea for
peychology and ewolutionary theory to pool their
intellectual resources. But given the paucity of hard
evidence on each side, the merger often seems to
achieve little more thananinatement to fabulation.

The trouble 12 not just that human brains leave
no fossils, though thisis certainly one problem. Just as
tazardous 1s the lack of definite lmowledge about
current mental mechanisms. This makes it all too
termpting to put evalutionary speculation in the place
of hard psychological ewvidence, and so conjure mertal
modules ot of historical myth. Take ls Cosmides’s
theory about the evdution of a cheater-detection
module. This is now widely accepted. But thereiz no
independent evidence, apart from Mz Cosmides’s
peychological experiments, for thiz histoncal story.
Iloreover, other psychologists now claim to have
performed new expenments which show that a
cheating factor iz not the crucial wvariable in the Wason
selection task after all. Less indulgent critics will say
that the flitation with evolution has asimply led Mis
Costrides up a theoretical blind alley.

A& girmmilar charge can be leveled at other prize
exthibits inthe gallery of ewvalutionary psychology. The
theories of human altruism described in Wr. Ridley's
“The Ongins of Virtue” inwolve any murber of
plausible ideas about the socal practices of our
hominid forefathers. But there 15 no real historical
hasizs for these pamhbles, and precious little direct
evidenice  that today's  humans  display  any
cotresponding dispositions. The ideas in WMr Ridley's
hook exhibit garne-theoretical sophistication and ruch
ingerity, and are worth reading for that reazon alone,
tut they scarcely qualify as reliatie science.

Then there is zex Eeproduction is central to
evolution, but there is room to wonder whether that
explains the attention it gets from the more pop-
oriented evolutionary psychologists. The leading light
i1 this area is Dawid Buss, o “The Doctor of Lowe”™, as
he iz fondy termed on “The Evolutionist™ web page.
His tiook, “The Evolution of Desirg” reports the results
of a questionnaire given to 10,000 people in 37
countries. In every country, women like rich men, and
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men like young attractive women. Dr Buss also
explains that potential pick-ups start looking better as
closing-titme nears and worse again after sex Well,
trayhe that 15 all =0, and perbaps it has something to do
with the ewolutionaty roles of the sexes. But Wiy Buss
tells you little shout the precise mechardsm behind the
behaviour. Defenders of ewolutionary peychology ey
reasonably reply that there are better practitioners than
Iir. Buss and more itnpressve exarnples of Darwinian
accounts of human mental phenotmena than sngles-bar
behaviour. Yet even the hbest sarples of the
evolutionaty approach mise the question of its
explaratory goal. Do the different esamples, plucked
hete and there from the vast feld of human mental life
and behaviour, show promise of ever adding up to a
coherent theory of the trind?

That question brings in the second main worty
ahot evolutionaty psychology: by emphasizing the
tmadules it leaves out the important part of the mind.
Evolutionatry psychologists often lilen the mind to a
owiss Army knife [t contains a large mumber of
purpose-huilt toals, each designed for a quite specific
purpose. But this picture prompts an obvious question.
Who, or what, 15 deciding when to open which blades?
Dot wou need some central intelligence to orchestrate
the  overall operation? some  evolutionary
peychologists say no. But, while that may be true of
other arimals, it mmakes little sense for hurans. For one
thing, wou seem to need a cenfral intelligence to
mderstand human moral reasoning. Ewven if your
modules incline you towards sesuwal and racial
discimination, for example, it does not follow that
such discrirmination is either inevitable or justified. If
mmans are just a collection of modular reflexes, how
1g it that they can correct their inclinations? Humans
seem to need some mental faculty that can stand back
from modular prompiings and tell them how to do
better.

There are less elevated examples of people
moritonng the outputs of their pupose-specific merntal
modules. You are often quite aware that ywour wisual
gysterm 15 fooling you for example, when you look at
tricl drawings, or indeed when you watch television. [f
it iz posable to question modular inclirations in this
way, there must be some place in the mind which
transcends the modules.

To insist that there is more to the mind than
modules iz not to deny homans animal heritage: no
doubt a person’s central intelligence iz itself an
evolutionary product of the past. But it does mean that
evolutionary psychology, like its predecessors, is in
danger of ignonng the very thing that malces humans
different from other animals Perbaps ewdutionary
peychologists wall soon shuft their focus away fom
penpheral modules, and start contributing to an
understanding of the really hard biological problem of
the structure and function of the central intellectual
abilities. Until then, they are unlikely to shed more

Fred B3
than a sidelight on the human rind or to show people
trnach about wihry they live the way they do.

101, Whatis Stephen Jay Gould s main objection to
Darwinian theorists?
a. thatthey lack goodjoles
b, that they are fidl of “just-20" stories
c. that they read meamng into  every
biological trait
d. thatthey donot see the practical aspects.
102, It can be inferred from the first paragmph that
the author of the passage
a. agrees with Wr. Gould
b, disagrees with Vr. Gould
c. iz neutml about L, Gould’sarmument
d. considers the abjections objectively
103, What iz the author frying to comvey through
the phrase, “incitement to Amilation™
a. inciting theorsts to make fhulous claims
b, resultingin stories and fables
c. re;ultingin wrong clains
d. none of these
104, Wit Cosmddes” theoty about evolution,
a. isnowwidelyaccepte
b izjusta historical north
c. lacks psychological evidence
d. isa theoretical blind alley
105, Dawid Buss’ conttibution to the evolutiorary

approach:
a.  isan important contribution to understand
ewolution

b, does not explain much about evolution

c. isanemrple of pop-otented evolutionary
py chology

d. haz added important statistical research
consisting of 10,000 people in 37
countries.

106, The problem with treating the mind as a
maduleis that:

a. itignoreshow the mind actually functions

b, it ignores the fact that a mental faculty
contrals modular prompting

c. ittreats everything in compartmerts

d. it does not explain wisual tricles such as
telesision

107, The conclusion of thearticle is that:

a. Ewdlutionary psychoogy ignores the wery
thing that makes humans differert from
anirmal s

b, Evolutionary psychology iz unlikely to
shed more than a sdelight on the hunan
mmind.

c. Ewdutionary psychology can explain an
important aspect 11t explains the stracture
and function of the central intellectual
ahilities
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d. Ewvolutionary psychology has a limited

future, as of date.
105, The article iz an attermpt to;

a. explain evolutionary peychology

b, dizcuss the contribution of evolutionary
peychalogists

c. downgrade the
peychalogists

d. none of'these

cotitritnati on of

PASSAGE 2
It sounds pretty obwious life 15 all a game. Chatles
Latab (1775-1834% put it rather elegantly: “Man is a
gaming anitral. He st always be trying to get the
better in something or other™ What John Harsanyi and
other econormists did was to apply matherratical Logic
to this uman urge and malkie game theoty, as it is
called, part of the ir tool kit At its hamblest lewel,
gatre theoty 15 usefil in saving the players frotn going
trad. In devising a stategy vou lmow that your rival
tray know what you are planting, and he knows that
you low he knows, and soon... even skdlled chess-
players can feel mertally wounded.

Ith chess and cormparable real-life garmes, each
dde has basic information about the other The
problemn of Clarles Lamb’s gatning andmnals is that
they usually hawve irperfect knowledge abhowt their
opponents. They quessed, or relied on “inhition™ o, as
Mapoleonn said of his fawvorite generals, they were
lucly, Until gquite recent itemns, this was the way
courtries and great cotnpard es dealt wath their fivals.

L. Harsany’s contribution to gatne theoty
was to show that such games need not be played ina
fog, or at least not rmch. It was possible to analyze
such gatnes and provide oidance about the probable
tnoves and their outcomes. This adwanced game theoty
was employed, at least by the Americans, in their
tiegotiations with the Soviet Union on artns contral.
Eennedy and Khushchev used game theory in their
tuzsle over Cuban missles in 1962,

Game theoty 1z wadely used in cotrmerce, as
tappened this wear when, with great success, the
Brtich govemment sold licenses for mobile phone
serwices i an auchion designed by an  Ozford
econotrist. Paul Kemmerer Some econorists are
watching with fiscnation the contest between the
Furopean Central Banlt and the currency trarket over
the future of the Furope, which has at least the look of
an egerdise in game theory, & Duich team of
economists applied the theory to intemational football
and concluded that a bad team playing at home is more
likely to score than a good one playing away. One
effect of game theory iz to make econonusts seem
uite nrmarn,

Az often happens when an idea becotnes
fashionable, there has been some argument ahout who
first thought to game theory. Wlr. Harsanyi, who shared
alMobel Prize in 1994 with two other econormists in the

Ehad 33
satne field, Johth Mash and Feinhardt Selten, <was
tappy to acknowledge that gatne theory had been
around in sorne forrn for a longtime. Flayers of poker,
and of course chess, had been using game theory
without calling it that. Philosophy has a claitn: it seeks
to mtionalize the behaviour of people with conflicting
iterests. Az a young man in Budapest, Wt Harsany
tad shadied philozophy and mathematics and, to please
iz parents who tat a phattracy, he added cher sty
What triggered his interest in game theory appeats to
tawe been the wotk of John won MNeumann and Oskar
Morgenstern, who in 1944 published a bools entitled
“The Theory of Garnes and Econoric Behawour™
Von Meurratitn was an Ametican trathematician who,
by coiicidence, had also been born in Hungaty and
tad attended the sarne school as Vit Harsanyi. He and
Iorgenstem may have been the first to show how the
philosophical idea of rational behaviour could be
applied to econotnics. They did not develop the idea
In his shart life, won Meurann especially had mmch
other interest, including work on quantum theory and
the design of the first electronic cormpters. In paper
after paper, IWr. Harsanyi and his colleagues took the
theors further. It is still being polished.

The philosopher in Joht Harsanyi sa9w in game
theoty means of inproving the hurran condition. He
promoted the idea that the rightness or wrongness of
an action depended on itz consequences. An ethical
theory lmown as  utilitarianism. The connection
hetween game theory and ethics iz a complex e, His
hook on this theme, Essays on Fthics.  Sodal
Behaviowr and Scientific Fxplanation”, 15 a hard read,
just as game theory it self demands lots of tricloy
mathematics. Mo one would blame you for sticlkang to
Chatles Latmh.

109, What iz the author meaning to conwey when he
says, “even skilled chessplayers can feel
mmentally wounded™
a. it sawes the players from going trad
b, the mathematical logic of the game theory
leaves even ddlled players wounded

. thatthe theory iz very complicated

d. chess players find the theory hard to
comprehend
110, The awthor feels that prior to game theory,
conpanies and contries
a. relied on guess work when dealing with
gach other

b, relied on luck mther than sdentific
analysis

c. tmade imperfect decisions

d. had noideahow to deal with each other

111, The main contnbution of MWr Harsany to
gatrne theoty s
a. it made econor sts seetn quite human
b, gamnes need not be played in fog now
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c. it prowided guidance about the probable
tmoves of opponents

d. it was employed by Americans in dealing
with the Soviet Union,

112, Why does the author say that one effect of the
garne theory is to rake economists seetn quite
hurran?

a. because complicated theory could now be
applied to real life situations

b, because game theory was used in diverse
fieldzlike foothall and politics

c.  because it brought economics closer to the
masses

d. because it was a way of adding huran
element to cotrplicated theories

113, Howdid gamne theory originate?

a. from the wotlss of Harsansgd

b from John Mash and Rein hard Selten

c. from John Von Mewmann and Oslar
MMorgernoten

d. from gameslike chess and poter

114, The passageis afan;

review ofa book wnitten by Wi, Harsanyi

assesgment of the work of Wiy, Harsany

surntnation of the gatne theory

explanation of the garne theory

an oW

PASSAGE 3
Ewen ag its rivals have been battered by the cyclical
dowmturn in petrochemicals and by Asia’s firancial
troubles, Feliance has gone fom strength to strength,
[tz latest results show a robtust 18%0 rise in net profits
and a 37%0 nise in sales over the same period a year
galier. Average anrmual growth in the finn’ s sales since
it went public has been over 25%.

The way in which Feliance has achieved such
results iz, howewer, rather less irnpresaive. [ts success
tas arisen largely frormn its iron ghp on its home
mrarket, source of 05% of its revenues—a grip that it
retains in part through cose links with Indian
politicians.

From its wery begnning, Dhirubhai Ambarni.
the firm’s founder, wooed politicians to secure the
licences heneeded to expand his business from a small
testile concern into a big petrochemical one Wlany
analysts suggest that the Arrbarni farmily (Dhirabhai’ s
song Whakesh and Anil, who attended American
business schools, nun most things today) has advanced
largely thanks to such contacts “The first call the
mrandaring in Delhi make after every cabinet meeting
istoReliance” daims one

The firm has benefited from a curiously
favorable regqulatory regime. For exanple, it pays wery
little income tax (1997 was the first year in which it
paid any). The firtm has also long benefited from the
Indian structure ofirport duties

P08 53
If Feliance owed itz success only to such factors, it
wiould be just another dligopolist uang influence to
cotrpensate for inefficiency. These are, sadly, all too
cotrrnon in India. Shumeet Baneji of B ooz, Allen and
Hatrilton, aconasultaney, calls India “the Galapagos of
capitalised”, populated by strangely mutated fitms that
tave adapted to the whims of the *License Ra™, and
could never survive in an open econotmy. But Reliance
iz more than that The Ambaniz hawve in fact buit a
thoroughly modern, efficient business.

& st to Hazmira, a parched corner of north-
western India, tells the tale more elogquently than any
garnings report. The first thing vou notice walling
round the FEeliance site there is how spiritless it 12 no
tubbish orlegions of people hanging ahowt. Y ou might
he it Switzetland o Delaware, ot pethaps suprising,
snce the equipment 12 all the latest stff

In annther part of the complex you see fine

polyester yvarn for weawing into fabrics like sarees. Bat
do niot touch: the warm iz so delicate that it is packaged
by tobots that whistle “ZipDee-Dah™ as they zoom
around doing the wotl of 700 men. Even more striling
ate the aftitudes at Hazirm Feliance dared to build in
thiz dusty town what was at its mception the world’ s
largest. ethylene “cracke™. Despite widespread
scepticism, boasts the site manger, it did so0 in record
time. Ewery other employee seetns to speals eamestly
ahout how hizjobis “henchimatled to the wild's best”
It is this pursuit of world standards, not merely those
good enough for the cosy local mmatlzet, that sets
Feliatce apatt from the flaccid family ernpires that
gill dotrinate Indian business. A recent study of
corrpetitiveness by Arthur D Little, a consultancy,
tanks Feliance as the most commpetitive fimm in India
and among the top ten in Asia. Paul Berrand of
Goldiman Sachs, an investtnent banle, thinks that it is
the most competitive petrochemicals finm in Asia,
It Armbatd had the insght to realize that a finm which
helped to foster India’s then puny petrochemnicals
tratlet codd cotne to domminate it In the 19805, for
exzatrple, he built a polyester plant with an antal
capacity of 40,000 tons at a time when that was
equvalent to India’s entire annual consumption. He
integrated baclowards from testiles to synthetic fibers
to petrochermical s themselves. Now Feliance bas gone
further upstreany: it is building a nassve new refinery
i India and it is exploring for oil.

Ancther consideration is the gldll with which
the cotrpany rarages its finances. bt Ammbamd, offen
spumed by banks when young, was one of the frst
Ihdian industrialists to turn to small invesars for funds.
The initial fotation of Feliance and itz rize to
capitalization of over § 3 billion today, have made him
the hero of millions of strall shareholders,

It iz curious that Feliance should be zo well
tun, given that it need not be Part of the explanation
liez in the fact that the Ambaniz are not like other
established dyrasties Dhirubhal Ambani started out as
a lowdy varn trader, and through decades of hard worls
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forged his empite His sons still work 12-14 hours a
day, including weekends. Unlike many frmily frms,
they hawve an experienced and long-serving tearmn of
professional  mangers: over 1000 have worled
overseas, atd half have worled oside the finm,
Feliance pays well and, wmsually for ndia, poaches
from tival firms.

In other words, Feliance has what it talen to
be a wotld- class player. Yet ask the Arrharis about
their arnbitions and they do not once stray from their
home tuf, Mukesh Arbard talks grandly of his
“endgarne” of tuming Reliance into an “Indian energy
trajor”. He has new ventures in telecorntmar cations
and power generation, and hopes to expand into roads,
potts and other inflastructure, The only cormon
thread, argues Wano Badale of Monitor, an Arnercan
cotisultatt who lnowes the fitm well, 15 2 focus o
capital-intenave industries in which success turns on
the ahility to get round regqulators—and that, it seems,
iz what the Ambaniz reckon iz Feliance’s core
COTRIEtEnCe.

That 15 a pity, and it may tum ot to be bad
tiews for Feliance As India’s petrochetricals sector
liberalizes—high tariffs and other trade bamiers have
been fAlling slowly, prodded by comtmitments to the
WTO—the day will come when Reliance must face
foreign fivals on something resembling a  lewel
playing- field Fetrmining ensconced in hdia may
provide” a few more years of fat profits such as those
announced recently. But it mmay not help to prepare
Feliance for a more setious endgame: unfettered
global competition.

115, Why does the author say that Feliance's
achievetnent iz less irnpressive?
a. it has an iron grip ondts home market and
has operated in monopaly conditions
b, it has 95% of itg revenue from the home
trarket
c. the finm has benefited from the Indian
stucture of import duties
d. it has used poliical influence for its
SUCCESS
114, Which of the following statements are directly
made by the author?
a. the Ambani family has advanced largely
due to political contacts
h. hureaucrats in Delhi call Feliance after
every meeting
c. Reliance has benefited fom a regulatory
regime
d. all of the abowve
117, The latest results of Feliance show that:
a. it performed better than most years
b, it perfommed worse than most years
c. itz performance has been more or less
average
d. rcamot sy

118.

119,

120.

121.

122,

123.

124,

125,
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What does the author mean by “cutousy

fwourable remilatory regime”?

a. the systemn of contral in India

b, the regulatory regimeis strange

c. the contral favours some and not others

d. none of the above

By going frther upstream, Feliance:

a. went against the general thinking

b, setup units wiich provided raw materials

c. built plantzin fver towns like Hazim

d. none of the ahove

Why does the author say that Feliance need

not bewell-nn?

a. itiznotlike other established dynasties

b, it could survive without being efficient

c. it iz in the core sector and would make
profits anyway

d. it could have followed traditional methods

The longtertn fulure prospects of Reliance,

according to the author, are:

a. . reazonably bright

b. it can make fat profits for a few more
YEars

. itfaces great challenges ahead

d. it may not do 20 well after a few years

The difference between Feliance and other

family businessis that:

1. they hawe a team of professional trangers

2. they still wotl 12-14 hours a day

3. ithas created wotld class operations.

a landl

b, land3

c. Zand3

d 1, 2and 3

Which of the following statements are true

ghowt Feliance?

a. itis 20 wyears old

b itizworth § 3 villion today

c. itisthehero of rallions of shareholders

d. none of the above

What doez the author feel about Indian

bureaucrats?

a. theyare sold out

b, they are dishonest people

c. they use the regilatory regime to help
certain people

d. none of the above

On the wisit to Hazim, the author was most

irmpressed with

a. the deanlinessat the plant

b. thelatest technology

c. the yam iz paclaged by robots

d. the Wghly motivated work-force

PASSAGE 4
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Whatewer philosophy may be, it is in the world and
trast relate to it It breaks through the shell of the
world in order to mowe irto the infinite. But it tums
back in order to find in the finite its always urigque
historical foundation. It pushes into the furthest
hotizons  bheyond  being-inthe-wodd i order to
expetience the present in the eterral But even the
profoundest  meditation  acquites it meaning by
telating bhack to man’s emistence here and now
Fhilosophy dimpses the highest criteria, the starry
heaven of the possible, and seels in the light of the
seerningly itrpossible the way o tnan’s dignity in the
phenomenon of hiz erpirical existence. Philosophy
addresses itself to individuals. It creates a fiee
commnunity of those who rely on each other in. their
will for truth Into this community the philosophic man
wiould lilce to enter. It is there in the world at anytime,
it cannot become a wordily institution without losing
the freedom of its tnth. He camnot lmow whether he
belongs to it Mo authority decides on hiz acceptance,
He wants to live in his thinking in such a way as to
make his acceptance possible. But how does the world
relate to philosophy? There are chairs of philosophsy at
the universities. Mowadays they are an embarra ssment.
Fhilozophy iz politely respected because of tradition,
it despized in secret. The general opinion is it has
nothing of inportance to say. Meither has it any
practical walue. [t iz named in public but does it really
exist? Its emstence is proved at least by the defense
measures it provolkes, We can see this from comments
lice: “Philosophy iz too complicated. [ don't
mderstand it [t's beyond me I's something for
professionals. [have no gift forit. Therefore it doean’t
concem me.” But that iz like saymg [ don’t need to
bother about the fundamental questions of life; [ can
diligently tury trrselfin some special figld of words or
stholarship without thinking or  questioning  its
meaning, and, for the rest, have “opiniond” and be
contend with that. The defensze becomes fanatical. A
benighted wital imstinct - hates plilosophy. It is
dangerous, If 1 understood 1t I-should have to change
oy life T would find myself in another frame of mind,
see everything in a different light, and have to judge
anew. Better not thank philosophically | Then come the
accusers, who want to replace the ohsolete philosoplsy
by sotnething new and totally different It is moistiusted
as the utterly mendacious end product of a banbeapt
theology. The mesninglessness of philosophical
propositions is made fan of Philosophy iz denounced
as the willing handmaiden of political and other
powers. For many politicians, their wretched trade
would be easier if philosophy did not exist at all.
Ilasses and fonctionaties are easier to manipidate
when they do not think but only have a regimerted
ittelligence. People rust be prevented frorm becotning
sericus. Therefore it iz better for phdlosophy to be
boring. Let the chairs of philosophy rot. The tnore
piffle is taught, the somer people will be blinlered
against the light of philosophy. Thus philosophy is

e

Phoad T3
surounded by enerdes, most of whom are not
conscious of being such. Bourgeois complacency,
corwentionality, the satisfactions of economic
prosperity, the appreciation of science orly for its
techrical achiewements, the ahsolute will to power, the
honhiormie of politicians, the fanaticiam of idecloges,
the litetary self-assertiveness of talented waiters - inall
these things people patade their anti- philosophy. They
do not notice it because they do not realize what they
are doing They are unaware that their anti - philosophy
15 itselfa philosoply, bt a perwerted one, and that this
anti -phil osophy, 1f elucidated, would anrdhilate itself

126, A suitable title for the pazsage would be;
Ivlan and Philosophy
b, Philosophical angst
c. A Defence of Philosophy
d. The Enernes of Philosophy
127, Which of the following iz not mentioned as a
fanction of philosoply in the passage?
a. It shows the way to man’s dignity in the
face ofhis empirical existence
b it breals through the shell of the world in
order to move into the infinite.
c. [t pushes into the frthest honzons beyond
beingin the wodd.
d. [t makes the world a better place to live in,
128, Which of the following is true, keeping the
passage in tmind?
a. Philozophy iz evidently respected
b, Philosoplyy is secretly despised
c. Bothia)yand (b}
d. Meither (a) nor (b}
129 The word ‘chairs’, i the contest of the
Passa e, TFAnS:
a. wooden faced people
b, departments
c.  sepatate chairs for philosophers
d. reserved seats for students of philozophy
130, Which of the following is not a charge against
philozophy?
a. thatit iz abaolete
2. thatit is mendacious
3. thatit is the landmaiden of political power
4. thatit iz imrmeoral
131, According to the author, the existence of

o

philosophy is proved by
a. the fact that there re stll” chairs of
philozophy in universities

b, the defensemeasures it provokes
c. the politerespect it gets
d. the fact that it answers the fundamerntal
gquestions oflife
132, Why, according to the passage, would
politicians be happy if philosophy did not
exist?
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a. Masses wold be easier to manipulate as
they wiould net think for thermselwes.

b, They would not have to make false
allegiatices to ideclogies.

c.  They would not have to face allegations of
ignoning philosophy.

d. They would not lave to be philozophical
ghout losing an election.

PASSAGE 5

Among those who call themselves Sodalists, two
lands of persons may be distinguished. There atre, in
the first place, those whose plans for a new order of
society, in which private property and individual
corpetition ate to be superseded and other motives to
action substituted, are on the scale of a willage
corrrunity or township, and would be applied to an
enfire country by the multiplication of such self-acting
units, of this character are the systems of Owen, of
Fourier, and the mare thoughtful and philosophic
socialists generally. The other classes, who are more a
product of the Continent than of Great Britain and may
be called the revolutionary Socialists, propose to
themselves a mch bolder stroke. Their scheme is the
management of the whole productive resources of the
coutry by one central authorty, the generml
government. And with this view some of them avow as
their purpose that the worldng classes, or somebody on
their hehalf, should take possession of all the property
of the country, and administer it for the geneml
benefit.

Whatewer he the difficulties of the first of
these two formms of Socalism, the second st
evidently inwolve the same difficulties and many more,
The former, too, has the great advantage that it can be
brought into opermation progressively, and can prove its
capabilities by tdal. It can be tded first on a select
population and extendesd to others as their education
and cultivation pertrit. It need not, and in the natural
order of things wouwld not, become an engine of
subversion until it had shown iteelf capable of being
also a means of reconstruction. It 1z not so wath the
other: the aim of that 1=z to substibite the new nie for
the old at a sngle strolke, and to exchange the arount
of goods realized under the presert systemn, and its
large posabilities of improvemernt, for a plunge
without any preparation into the most estreme form of
the problem of carrying on the whole round of the
operations of social life without the motive power
which has always hitherto  worleed  the  social
trachinery. ‘It must be acknowledged that thosze who
would play thizs game on the strength of their own
private opimdon, unconfirmed as yet b oany
expetimental verification - who would forcibly deprive
all who have now a comfortable physical existence of
their oty present means of preserving it, and would
brave the frightfil bloodshed and rmisery that would
ensue if the atterrpt was resisted - st have a serene
confidence in theit own wisdom on the one hand anda
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recklessness of other people’s suffenings on the other,
which Fobespierre and 5t Just, hitherto the typical
instances of those united attributes, scarcely carne up
to. Mewertheless, this scheme has great elements of
popularity which the more catious and reasonable
fortm of Socialistn has not: because what it professes to
do, it protrises to do quickly, and holds out hope to the
etithusiastic of seeing the whole of theit aspirations
tealized it their own titne and at a blow,

133, According to the author, the difference
hetween the two lands of socialists 15 that:

a. one consistz of thinkers and the others are
active people.

b, the first have a definite philosophy and the
second don't have any definite philozoptsy.

c. the first believe in gradual change wiile
the others believe in revoluti onary change,

d. the first are the products of Britain, wiile
the others are productz of Fusaa

134, Which ofthe following iz not a socialist?

a.« Fobespietre

b Fouter

c. Owen

d. All are socialists

135 According to the philosoply of rewolutionary
socialism:

a. The government tales over the willages
first and then, gradumly the whole
COUMILEY.

b, The gowvernment talkes over all productive
resources of the country at one strolee,

c. The govemment declares a police state
and rles by decree.

d. Thete is no govertsment as such, the
people mle themselves by the socialist
doctring.

136, Which of the fullowing, according to the
authot, 15 true?

a.  The second formn of socialism has more
difficulties than the first

b, The second form of socialistm has the satme
difficultiesasthe first.

c. The second form of sodalism has less
difficulties than the first

d  The awhor las naot
difficulties of the two

137, Which of the following were charactenistics of

Bt Just and E.obespienre?

a. Unconcern for others” suffering

b, Full confidence in their own wisdom.

c. Botha)andb).

d. Meither a) not b}

135, It may be inferred from the passage that the
author’ s syrrpathies are onc

a. neither side.

b, the side of the socialist doctrine.

compared  the
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c. the side ofthe second type of socialism
d. the first type of soclalism.
139, The word “avow’ in the cortext of the passage

Means:

a. proclaim
b wow

c. affirm

d. deny

140, Which of the followang, according to the
author, ray not be the result of not venfying
the desirability of socialism esperimentally

frst?

a. bloodshed

b, deprivation of cwrent comfortable
existence

c. corruptionin high places
d. mizery caused by resisting change

PASSAGE 6

Fapertzs in hurman behaviour argue that ethics and
values are learned as a natual part of huren
development, detived from school, religion and other
influences. Some authorities say that ethics is the
itmate notion of right and wrong and cannot be taught
to an adut. Thizs means that an individual has to have
been shaped as honest and upstanding (or dewvious and
wvenal) long before he or she sets foot in the corporate
sector. Perhaps as a result of this belief, the corporate
that form an integral part ofa country’ s econony try to
avoid dealing with the value bazed issues that they are
confrorted with ona day to day basis, unless forced to
do so. Cver time these practices become precedents
and the findamental walue of dealing with ethics
upfront loges itz importance. A fter all, we have done it
before and it has worlced, 20 why not now? ™ iz the
generml attitude. To the mndividual manager, walue
tased conflicts tend to be largely personal, seldom
cormporate in nature or intensity. It turns cormporate only
when the espouszed walue ig real and bapperning in the
compaty. [n performning these value based roles,
mranagers are often trained to see its application on a
corrrmercial basis Problems arize when the decision-
mraker is unable to cope with commercial conflicts as
differentiated from personal conflicts.

Part of being a good manager is being aware
of the nommal dimensions of one’s role in the netwark
and in the organization Managers can unwattingly
engage in a wide mange of role- related acts that are
ettically questiorable A larger question before us is
whether managers see this dissonance between what is
petceived as unethical, and what is being practiced.
For instance, a sutvey of HBE subscibers in 1951
revealed that the biggest issue iz not defining sezmal
tarmssment but  recognizing it when it occurs
Simnilady, it was not until 1990 that the US
governmment enacted the Arnericans with Disabilities
Actthat restricts ermployers from using medical tests to
reveal a physical or mental impairment, except under
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special circumstances. Peter Drucker argues  that
tsiness professionals are no different from other
professionals, and showld abide by the principle of
notnale-ficence. This invalwes studying the impact of
acts on the good of the indiwidual, the firm the
tsiness corrrotity, and society asa whole Crossing
hotizons of definitiveness is real in any pursuit of a
tneatingfil debate on ethics In fact it 15 essential for
teacking a sense of conclusion, if possible While it
does not concentrate o the obligations of a personasa
private individual and a citizen, these creep into the
socio-econorrd o systern which governis busitess.

Laura MHash deals with twelve issues of ethics,

addressing the basic question: “Is riy business deciszion
alzo an ethical decison? Mash provides a farmeswotls
that demonstrates the impottance of critical thinking in
miziness ethics where the goal is a corporate practice
that does not foster unnecessary socal harm She
etrphasizes that her programime works in a conerete
setting that it 12 not utopian, philosoplical ahstraction.
A person accepts cettain special obligations when
hedshe becomes a part of the world of cormerce.
These ohligations tiecessitate a reciprocal behavioral
mattern in syne with individual walues and beliefs
viewed concurtently with those of the firm Ethical
congruenice 15 the alignment of'an organization’ s stated
values, the decisions of its leaders, the bhehawiors that
are encowaged by itz systems and the walues of its
errployess. The leader’s resporsthility iz to give
etrployess guidance as to what walues employees are
expected to demonstrate, in what priority and how
ahsolute those prionties are.
Before a business can reach ethical congriuence it must
he clear on what it truly values. There rmust be a clear
definition and articulation of walues, helief:, core
philosophies, nortms and ideals that the organisation
chooses to follow, to practice in good times and bad,
and to stand by under any cirocumstance. Cnce stated,
agreed upon and articulated, this core operational and
exceptional  philosophy  has to be tested for
compatibility and acceptability with business vision,
mission, core strategy and tactics, short and long term
goals and objectives and expected  behawioml
outCotnes.

It would be appropriate to comment here on
the necessity for marmagenal coumge Donald F
VanFynde defines it as “the willingness to do wiat is
nght in the face of risk™ Fisk here means a real or
perceived danger to oneself, one’s reputation or one’s
career, and includes such actions as confrornting the
statuz quo, embracing change in the face of resistance
and opposing a popular but unhealthy idea. It means
doing what iz right, arid what needs to be done. The
determining factors are the values and the power and
position that the incumbent has, to do what he believes
. Ethics calls upon our courmge to act upon what we
beliewe in, and our willingness to sacrifice for the
cause.
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Ianagerial responsibilities and roles in the
comtnercial fleld outline a troad range of activities,
goals and standards created to sustain the performance
of a busness orgamisation In performing roles not
congruent with the traditional organisational practices,
tratagers could engender ethical dissonance There are
primnatily five role acts, (which may owetlap), involved
ih ethical decsion maldng in oa  cotunetcial
EfLvirotitiett.

self-entanced ethical dilertra role acts are
any acts that involve direct gains for the actor at the
expense of the firm, they are managenial only in the
sense that they tale place in organisations and
Frequently involve those who happen, by title, to be
called managers. Ethically questiorable acts of this
trpe, such as empense account cheating, insder
trading, nexus with brokers and  middlemen,
etrhezzlement, receiving ldckbacks from wvendors,
ghot changing petty cash accourts, tmnsfeming
corrpany information fora price, using/selling patents,
fortrlations, new product development information
and stealing supplies, are corumitted against the frm
and in the self-interest of the indiwidual. They are
essentially unethical practices not in consonance with
the purpose of the finm.

The Indian financial services industry scam of
the eatly I 990z, that unearthed the active involvement
of indiwiduals tisnsng their authority limits and
conriving with brokers, iz an exatmple. Finanders have
a fiduciary responahility to be honest and to protect
their clients’ assets. At the corporate level there are
several examples of inter comporate espionage. JTust
when Palm electronic organizer of 3Com, a nmaway
hit, was malking hnge headway, IWicrosoft decided to
call handheld devices based on itz Windows CE
operating system Palm PCs 3Com sued, claiming it
owned the Palim name.

Ilyopic mania ocowrs in large and small role
situations and iz common among practicing managers,
The behaviowr is seldom rmndom, is  typically
repetitive, has strong overtones of dominance and
makes uze of contral and power. Fole failure acts are
directly related to managerial roles, and can be acts of
comyrission  or omission, such  as  superfical
perfonmance appraisals, not providing a fair and
honorable feedback to emmployees on their performance
and using leadership mles to entance power through
critical control ower people.

Ilanagers with myopic mana may hire and
fire employees to show contermpt towards process and
gystern;, they may not conffont expense account
cheating, may appease blaclonailing employees to win
persoral favours against the company’s interest, and
may palm off a poor performer on to ancother
department. At a heightened lewel of cormuption they
may  systematically  cheat  the  orgamsation
intell ectually

Typically, such a manager would, at regular
interwals, conwey lis desire to leawve the currert
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assigniment for a better career opporturnity, and seeka
tnonetary/career fvour in retarn for his loyalty, He
would demonstrate bz unhappiness at the curent state
of orgarisational performance and would show deep
angish over tmanagerial inaction on urresdlved
problerns.  These managers hawe unrealistic  self-
petceptiong and are often schizophtenic. Gullible top
tratagement is often talten in by their seemingly
logical, rational approach. Deception is key to their
unethical practice. These acts itvrolwe direct personal
advartage (not necessanly flnancial gain) at the
empetize of the firm A culture that fosters high
petformance  dnven job  insecurity could make
etrployess more susceptible to this ethical encounter.

The case of a large Indian husiness house that
tad to forcibly retite some of its top managernent and
their cotsequent outhurst to the media on the cormpany
could well tneat this type ofan ethical act.

Power iz the potettial to influence others for
good or ewil, to bea Wessing of a scourge Power
petvades every aspect of life Principle centered
power, based on honour extended bilaterally, leads to
influence that lasts ower extended periods of titne and
cat even outlive the person from whom it omanates.

In contrast, distortion, while appearing straight
it its actions and motives, involves the use of power
and authority, through goals It also itwolves cotduct
that creates direct adwantages for the firmn in the short
tuty wihile indirectly providing ins to the individual
actors. This in turn displaces direct costs onto selected
stalzeholders outaside and inside the arganisation in the
lotg ran.

Power usage is evident in actions involwing
ethics. In some instances the stated positioning of the
cotpotation malkes it easy for elirmination or avoidance
of distortion In other cases, the actions ofa superior or
a person with authority invanably appear right to the
younger managers, who may actually heliewe that the
decision was right and beneficial to the company.
According to Jay Fohtlich, a psychiatrist,  Susceptible
peaple will be seduced by that lind of magical power.
IMoney is a magical commodity, in the sense that it
does transform reality™ Fohrlich alzo talks abot a
personality style that combines risk taldng with a
grandiose sense of personal power. Such behaviour
evertually leads to an orgamsational freeze status,
given low visihility between what iz nght and wiat is
ot

Bribery, price fxmng and manipulation of
upplies are some examples of managerial role
distortion that benefit organdsations in the short nun.
Cross holding pattems of shareholding are another
exzarmple of this ethical issue. While capital is obtained
for a stated purpose and cash flow generated, the
surplus is often used up to lend to a sister company,
often a losing proposition. In all such cases, it is
necessary to attnbute ethical owmership directly to the
decisdon-maker,
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The author iz of the opinion that:

a. ethics and walues are learned asz a natural
part of human developrment, derived from
school, religion and other influsnces,

b, ethics is the innate notion of dght and
wrong and cannot be taught to an adult.

c. walue based conflicts tend to be largely
personal, seldom corporate in matre or
intensity.

d. none of'the above

Which of the following would be closest in

meaning to the line in the passage, “the higgest

1ssue is not defining seswal harassment ot
recognizing it when it ocours”

a. managers do not  recognize
harassment when it occurs

h. though sesal hataszament is well defined,
cotrpanies do not howhow do deal with it

c. thete iz a diffetence between what is
perceived as wnethical in the corpotate
wuorld, as opposed to what iz practiced

d. none ofthese

What, according to the author, 15 “etlical

congruence”™Y

a. Fedprocal behavioral pattem in sync with
indiwidaal walues and beliefs wewed
concurrertly with those of the finm.

b, congruence of leader’s responsihility to
give etrployees guidanceasto what walues
errployees are espected to dermonstrate, in
what priodty and how absolute those
priotities are.

c. congruence of stated walues, decisions of
its leaders, the behawviours that are
encouraged by its systems and the walues
ofits employees.

d. all of the above

The ezmmple of Microsofl raming its hand. -

held devices az Palm PCs iz given in the

passage to highlight:

a. myopicmania

h. managerial courage

c. apoint

d. anunethical practice

Younger managers may not be in a postion to

act ethically because;

a. they are unable to deal with power
distortion

b, they laclk the udgment to distinguish
between ethical and wethical practices

c. ethical thinking comes only with age and
EX[ErENCE

d. none of'these

The passageis most likely talen from:

4. A NEWSpaper

b, a management jourmal

c. ahook

semmal

147.

142,

149,

150.
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d. an Internet site

What 1z “managenial distortion™ according to

the authar?

a. use of power and avthority to create
advantage for the firm as well as
individuals in the shot mn  while
disguising costs

b, distorting the meaning of certain unethical
practices a0 that they appear ethical

c. relying on distorted models of behaviour
to deal with unethical behaviowr

d. conveying  wrong  instnuctions  to
subordinates as the senior managers
rmisuse their power and authority

Which of the following statements iz true in

the contest ofthe passage?

a. business and managers should largely act
ethically

b, acting unethically iz harmfial to the
businessin the long nin

c. being ethical iz largely a ratter of the
indisrdual, not of the corporate

d. none of these

Which of the fdlowing iz not necessitated

whent an individual becomes part of the

cotnmercial world?

a. synchronization between individual values
and beliefs with thase of the frm

b, an obligation to act ethically, no matter
what

c. articulation of the comoration’s core

values and beliefz and the understanding
ofthe individual of these

d. none of these

Which of the following is a result of myopic

trara’

a. short sightedness ofthe ranager

b, inability to deal with long term strategy

c.  conternpt towards the procesz and systetns

d. alogical, mtional approach which does not
gel with the company

SECTION-IV

Directions 151-155: The following table gives data of
some students. However, some data has been spoilt
and canniot be read on the computer Aoppy.

Perfornmance Total
Average Good | Excellent
Iale ]
Female 32
Total 30

Itiz also known that;
1. Halfthe students were either excellent o good.
2. 40% ofthe students were fetrales.
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3. One-third of the male students were awerage
Based on the above answer the following
questions.

151, How many students are both fermale and
ezzcellent?
a 0
b &
c. lé
d 31
152, What proportion of good students are male?
a. 0
b, 073
c. 0.4
d L0
1533, What proportions of female students are good?
a 0
b 015
c. 0.5
d L0
154, Howimany students are both male and good?
a. 10
b 16
o 42
d 43
155 Armong average students, what is the ratio of
trale to fetnale?
a L2
b 21
o 32
d 23

Directions: (). 156 to 160 atre bazed on the table gven
below.
Market Shnres in Four MetropoBion Citics.

Penod/| Bombay (|Calouttal Delkd tnadras
Products] 1993-94  |1o03.04) 1993-04 [ 1993.04

HD 20-15 35-30 | 20-15 20-30
o 20-25 30-151 1510 2015
B 45410 25-35 | 3535 10-10
LT 15-20 10-20 | 10-10 5045

156, The market shares of which products did oot
decrease between 1993-94 in any city?
a. HD
h. CO
c. BN
d. Mone ofthese

157, The mumrber of products which doubled their
tratizet sharesin one or more citiesis

a
b1
e 2
d 3
138, The largest percentage drop in market shares is

Tieg N
B0%a
50%
53 %
d 20%
139 The mumber of products which had 100%
market share in four metropolitan cties is:

oo

=0 op
[N T O R |

160.  The city in which the minismoun mumber of
products increased their matket shares in
1993-94 vas
a. Bombay
b, Delli
c. Caloutta
d. Dhladras.

Direc tions: For (). 161 to 165 refer to thefollowing
pie-chatrt

1990-91
Operating Profit 130 lakh

1091-92

Operating Profit 160 lakh

Diniden)
Aoy

161, The operating profitin 1991-92 increased over
that in 1990-91 by

a. 23%
b 22%
c. 25%
d. 4%

162, The Interest burden in 1991-92 was higher
ttan that in 1990-91 by
a. 50%
b, 25lakh
c. B0%
d. 41 lakh

163, If, on an awverage, 20% rate of interest was
charged on borrowed funds, then the total
borrowed funds used by this cotrpany in the
giver two years arnounted to:
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el PR
a. 2211lalh d. &9
b, 1951akh 170, Which of the following statements can be
c. 368 lakh inferred from the graph?
d. 515lakh 1. Inall the years shown in graph, the trade

164.  The retained profit in 1991-92, as compared to deficit in less than the export eaming,
that in 199091 was; 2. Ezxport earnings increased in every vear
a. higherby 2.5% hetween 89-90 and 91-92.
b, higherbyl5% 3. In all the years shown in the gaph, the
. lower by 2.5% gaming by exports iz less tlan the
d. lower by 1.5% expenditure on impats in the preceding
165, The equity base of these companies retrained yEar.

unchanged. Then the total dividend earning (in 2. 1oy
lakh rupees) by the share holders in 1991-92 b only
is c. 3 DI'Jlj.F
a. 10.4lakh d. 1and 3 only
b 9 lakh
c. 12.81akh Directions: Q. 171 o 175 are based on the graph
d. 15.6lakh gen below.

Directions: (). 166 to 170 ate tased on the folioing

graph:

FOREMMN TRADE 10 bll!lh]n dalinra.]

s e

it B

o

3l {"11

o ‘FF’FFFF-*?’“WH"“ S

a 5 e G = 25 k1

166,

167.

ILES

169,

I which year was the trade deficit greatest?

a. &7-38

h. E3-30

o B9-90

d. 90-91

Export earning inn 90-91 iz how many percett
of irrportsin 91-927

a. &2

h. &5

c. 92

d 13

In how maty years was the trade deficit less
than thetrade deficit in the succeeding year?

a.

Q..'._.II__'I"'
[

In the last three wears the total export earmings
have accowted for how many percent of the
value of the imports?

a. &0

b &3

c. 95

Feverue obtained by a publishing house by selling

hooks, magazines, and joumal s,
2007 r ioumals  C(}magazines [ baoks i
180 4 - 2T T T T
1607 : la3sl
49 1olangl o R [
e . ..
40 1-- T3 - i85 --.- TBE 4.5
201+ el
198G o) 1541 1ugz
{in n:pees lakhy
171, Which year shows the least change in revenue
ohtained from jowmals?
a &9
b T90
co 791
d. 701
172, The growth in total revenue from "898 to 92 is
a 2%
b 28%
c. 13%
d 11%
173, In "%, what percent of the total reverie catne
frotmn boaoks?
a  45%
b 55%
c. 35%
d 15%
174, If 93 were to show the same growth as 92

owver "91, the resreriie in " 93 st be
a 1945

b, 1846
c. 1724
d. 17687
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175 The number of years in which there was an
increase in reverme from oat least tweo
categories is
a. 1

b, 2
c. 3
d 4

Directions: () 176 to 180 are based on the table given
hel o

Mlackine M1 as well as DMachine I can
itndependently produce sither Product P or Product Q.
The times talzen by machines W1 and B2 (in mimes)
to produce one unit of product P and Q) are given in the
table below: (Each trachine wortles & hours per day).

Product | 11 | I
P 10 |8
8] f fi

176, What iz the massirmum murber of urits that can
he manufictured in one day?

a. 140
b, 140
c. 120
d. 150

177, If the number of units of Pis to be 3 times that
of (), what iz the minmum idle time for
tra it total units ranufactured?

a. 0 minutes
b, 24 minutes
c. 1 hour

d. 2 hours

175, If equal quantities of both are to be produced,
then ot of the four choices given below, the
least effi clent way would be:

a. 48 of each with 3 minutes idle
b, 64 of each with 12 minutes ide
c. 53 of each wath 10 minutes ide
d. 71 of each with @ mminutes ide.

179, If IV wwrorles at half its nortmal efficiency, what
15 the razmum murber of units produced, if
at least oneunit of each must be produced?

a. 9d
h. &0
c. 100
d. 119

150, What iz the least numher of machine hours
required to produce 30 pieces of P and 25
pieces of Q7
a. 6 hours 30 mimites
b, 7 hours 24 mimites
c. 5 hours 438 mimmites
d. 4 hours 6 mitmtes

TEeE U
Directions: . 181 to 185 are hbased on the
information given below
A compary produces five types of shirts - A, B, C, D,
E - using cloth of three gqualities - High, Medivmn and
Low - using dyes of three qualities - High, Medium,
and Low. The following tables give, respectively:
1. The number of shits (of each category)
produced, in thousands.
2 The percentage distibution of cloth gquality in
each type of shart, and
3 The percentage distritation of dye quality in

gach type of shurt.
Mote: Each shitt requires 1.5 metres of cloth.
Dristribtion of cloth (%41 [Dis tibution of day (%45
Shist Mwwber [Shirt [HizhledimfLorE bt [Hizh{Medi Lo
Type [0007 Tirpe Type
& 20 4 |eo] 20 J- 4 || 15 |15
E 30 E |=0)] 40 |=0| B |2 | 30 |30
C 30 c |- om fao| c]-| 80 |40
D 10 D gl |40 D | - | 40 |&0
E 10 E m |=| E)-| 20 |a0

181, Whatis the total requirement of cloth?

a. 150,000 m
b 200,000 m
c. 225000 m
d. 250,000 m

182, How tnany mmetres of high gquality cloth is
consutned by A-shirts?

a. 8,000 tn
b, 112,000
c. 24,000 m
d. 30,000m

183, What is the mtio of low-quality dye used for
C-shirts to that used for D-shirts?
a 32
b 21
c. 12
d 23
184, How many metres of low-quility cloth is
consumed?
a 22,500
b, 44,500
c. 60,000
d. 40,000
185 What is the ratio of the three qualities of dyes
i1 high-guality cloth?

a 235
b, 125
c. F:9:10

d. Mone of the above,
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